TS EERRBGLRAER RERER

“REFRRBREORIEREK (1 REMED A FHHE)

(BA{3L : ppm)

AR FHSE TH6E = = 1B
5E'IE 4 5 6 7 8 9 10 11 12 1 2 3 |[1EFfE{E| R FHiE
XEL5/E | 0001 | 0001 | 0002| 0001 0001| 0001 | 0001| 0001| 0001| 0001| 0001| 0001 | 0009 | 0003
#NIF| 0000| 0000( 0001 | 0000| 0000| 0000| 0000| 0000| 0000| 0000 0000| 0000| 0010| 0.002
#EEF| 0000 | 0000 | 0000| 0000| 0000 0000| 0000| 0000| 0000| 0000 0000| 0000| 0010| 0.002
O/ | 0000| 0000| 0000| 0000| 0000 0000| 0000| 0000| 0000| 0000 0000| 0000| 0008 | 0.002
{52 | 0000 | 0000| 0000| 0000| 0000 0000| 0000| 0000| 0000| 0000 0000| 0000| 0017 | 0.002
#HEBF| 0000 | 0000| 0000| 0000| 0000| 0000| 0001 0000| 0001 | 0001| 0000| 0000| 0012| 0.002
GE) XHFRFZEAERETRT .
“BMLHiE (SO : FHIE)
(FEH HR B
Rl mla = 1BSRAMEA0.1ppm | B TI9BA0.04pom | g pyers B T 49{8%0.04ppm %  BBLEORMN
Amnmle o FTOEEBALBMME |BAARE B s BAI-Bh2ELLE S 1= &5 B R B
ZDEE TDEE EHRLE-CEDFE 0.04ppmZEHBAT-BH
%..”2 H B ] ppm =3 % H % ppm H:x, O H
XL5R| 365 | 8757 | 0.001 0 0.0 0 0.0 0.002 o) 0
FNE| 366 | 8700 | 0.000 0 0.0 0 0.0 0.001 o) 0
BEEB| 363 | 8697 | 0.000 0 0.0 0 0.0 0.001 o) 0
$O/B| 364 | 8700 | 0.000 0 0.0 0 0.0 0.001 O 0
BB/ | 365 | 8702 | 0.000 0 0.0 0 0.0 0.001 O 0
ZHEB| 363 | 8697 | 0.000 0 0.0 0 0.0 0.001 O 0
(GF) XHFRFZEAERDZETT .

(¥) SRHIEIAMLTDREFEN. BREBRENSEIMRBAEICERIZLT=,



—BMLER, “RMEERBEHEHRR (1 RFHREDH FEHE)

(B3I : ppm)

N Al 5E SH54E e x = (B
gg 4 5 6 7 8 9 10 11 12 1 2 G GEHEE
X8| NO | 0000 | 0000 | 0000 | 0000 | 0000 | 0.000 | 0.000 | 0.000 | 0000 | 0.000 | 0000 | 0.000 | 0007 | 0.001

NO:| 0003 | 0003 | 0003 | 0002 | 0001 | 0002 | 0003 | 0003 | 0004 | 0.004 | 0004 | 0.004 | 0036 | 001

Z)IIB | NO | 0000 | 0000 | 0000 | 0.001 | 0.001 | 0000 | 0000 | 0.000 | 0.000 | 0.000 | 0.001 | 0000 | 0018 | 0.003
NO:| 0002 | 0003 | 0002 | 0002 | 0002 | 0002 | 0002 | 0.003 | 0003 | 0.003 | 0003 | 0.003 | 0032 | 0.008

MR | NO | 0000 | 0000 | 0000 | 0000 | 0002 | 0001 | 0000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0015 | 0.004
NO:| 0003 | 0002 | 0003 | 0002 | 0001 | 0003 | 0.003 | 0.003 | 0004 | 0.003 | 0004 | 0.004 | 0033 | 0.009

O/ | NO | 0000 | 0000 | 0000 | 0000 | 0000 | 0000 | 0000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.009 | 0.002
NO:| 0002 | 0002 | 0002 | 0002 | 0002 | 0002 | 0003 | 0.003 | 0004 | 0.004 | 0004 | 0.004 | 0032 | 0.010

15E/m | NO | 0000 | 0000 | 0000 | 0000 | 0002 | 0002 | 0000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0.010 | 0.003
NO:| 0002 | 0003 | 0002 | 0002 | 0001 | 0002 | 0.003 | 0.003 | 0004 | 0.003 | 0004 | 0.003 | 0035 | 0.009

ZME | NO | 0000 | 0000 | 0000 | 0.001 | 0.001 | 0000 | 0000 | 0000 | 0.000 | 0.000 | 0.000 | 0000 | 0.007 | 0.002
NO:| 0002 | 0002 | 0003 | 0003 | 0002 | 0002 | 0002 | 0.002 | 0003 | 0.002 | 0003 | 0.003 | 0023 | 0.008

GE)

XEFRFREAERZETRY




—RILER. “RICERKVCERRIY (FRIE)
(AVUERVBIEERL L)

; —E1EZE % (NO) ZFIEZEH (NO2) E5RER1EY (NO+NO2)
AIF(W[&E[i[a|®F[W[&[1] 1% | ;0 | 88 | a0 [ |[=@[A[# |#][1][a] %
B | . o | = - %:2 W %%ﬁz 2 2 b 1%0@6 2 . 5| &
| BT || B F || & S| e | ok, | Elwea || T | E|®
- ; el 1) J & & . .04 D i | # el 1))
A L i o | 22 2 ppm & 0.06% ppm . = |Fr| o o | & | Nnos
B A ppm % | pgm £ moSa| ® P
= S ié] HEEI B B:'rf ﬁj EEEI b 1) % () ) H % E:'rf ﬁ] EEEI A
= = 98 | g e 020 2 0.06 98 |g| g 9g |NotNo:
B | % B & | eppm 2 5 | ep#l | % |gm B | %
R | M| e || E & || E|E - T =& T | fE |mxl % | @@ @] E
P B |B%ME | ppm | pom | ppm| B | BERE | ppm | pom | B % |BEREI| % | B | % | B | % [ppm| B | B |ERE| pom | ppm | ppm | %

1A B 365 |8,755/0.000 (0.007 [0.001 | 365 |8,755(0.003 |0.036 | 0 00 0 0.0 0 0.0 0 00 |0.008| 0 | 365 |8,755/0.003 [0.041 (0.008| 92.3

#)IIE| 365 |8,699/0.000 |0.018 [0.002 | 365 (8,699(0.003 |0.032| 0 0.0 0 0.0 0 0.0 0 0.0 (0.007| O 365 |8,699(0.003 (0.034 |0.007 | 87.0

P A | 364 |8,688(0.000 |0.015 [0.003 | 364 |8,688]|0.003 [0.033| 0 0.0 0 0.0 0 0.0 0 0.0 (0.007| O 364 |8,688(0.003 [0.036 |0.008 | 85.5

BrO /5| 363 |8,696(0.000 (0.009 (0.001 | 363 [8,696(0.003 |0.032| 0 0.0 0 0.0 0 0.0 0 0.0 (0.007| O 363 |8,696(0.003 (0.033 |0.007 | 92.4

152 /| 365 |8,701{0.000 [0.010 {0.003 | 365 |8,701[0.003 [0.035| O 0.0 0 0.0 0 0.0 0 0.0 (0.007| O 365 |(8,701)0.003 [0.037 [0.007 | 87.2

% HEE]| 363 |8702]0.000 [0.007 [0.001 | 363 |8,702|0.002 (0.023| O 0.0 0 0.0 0 0.0 0 0.0 (0.006| O 363 |8,702)0.003 [0.025 [0.006 | 91.3

GE) XHMXRFEAERETRY



REALFRYERERERER (1KRED A EHE)

(BfSE:mg/m)

A%l SH5E SH6E = = [E
%‘E 4 5 6 7 8 9 10 11 12 1 2 3 |1E5RE| B FHE

X{EH5E | 0020 | 0014 | 0017 | 0.020 0.017 0.015 0.011 0.012 | 0.011 0.008 | 0.009 | 0.012 | 0.081 0.053

&Z)E | 0016 | 0012 | 0.014 | 0.015 0.012 0.011 0.010 0.010 | 0.010 | 0.007 | 0.008 [ 0.010 | 0.060 | 0.034

B&MEB | 0016 | 0012 | 0014 | 0.015 0.012 0.011 0.010 | 0.010 | 0.010 | 0.007 | 0.008 | 0.011 0.089 | 0.031

O | 0016 | 0013 | 0015 | 0.016 0.013 0.012 0.011 0.011 0.010 | 0.007 | 0.008 | 0.011 0.072 | 0.032

152/ | 0017 | 0013 | 0016 | 0.017 0.014 0.012 0.011 0.011 0.010 | 0.007 | 0.008 ([ 0.011 0.073 | 0.032

#%MEB| 0018 | 0013 | 0017 [ 0017 | 0013 | 0012 | 0010 | 0010 | 0010 | 0.007 | 0.009 | 0012 | 0.087 | 0.037
GE) XMFRFHEAERERT .

FERLFRWE (S PM : ££/HfE)
(R—BIRPUT )

B3l 5 | %= 1RSI {E HY0.20mg/m | B FEH{EO0.10mg/m BEHIED =] z|Z1’31I_§0.1\0mg/r’r'|s’é _ REREEDORIAM .

Rcnmla  ElevomlEEicmmss (E@irERE s | EATEM2ELE I 5 B T fEAS

S5 ; Z0EE Z0EE EFLIEIEDHE 0.10mg/ Mz B =B H
R B | B | e | BRI | % B | % me/m B x, ®O B
XEEB 364 8,747 0.014 0 0.0 0 0.0 0.034 @) 0
A 366 8,760 | 0.011 0 0.0 0 0.0 0.026 O 0
AR 366 8,757 0.011 0 0.0 0 0.0 0.026 @) 0
HOB 361 8,636 0.012 0 0.0 0 0.0 0.027 O 0
EER 365 8,758 0.012 0 0.0 0 0.0 0.028 @) 0
Z2HB 365 8,758 0.012 0 0.0 0 0.0 0.030 @) 0

GE) XHMXRFEAERETRY



